CITY OF MUNISING

COMPREHENSIVE FEE SCHEDULE

2024-25

# TABLE OF CONTENTS

PAG	GΕ
ICENSES & PERMITS	
MARRIAGE FEE	1
OURIST PARK FEES	
AYSHORE PARK PAVILION FEE	
ITY DOCK/MARINA	
SEASONAL RATES	2
TRANSIENT RATES	
CITY BOAT RAMP	
ARKING TICKETS	
ATER RATE SCHEDULES	
EWER RATE SCHEDULES	
EMETERY RATES	
	/
ISCELLANEOUS CHARGES	^
SALE OF MATERIALS	
XEROXING	
HEROES FIELD	3
SOLID WASTE DISPOSAL TAGS	3

### LICENSES & PERMITS

### MARRIAGE FEE:

Fee: \$50.00 January 1, 2010 increased

Authority: Resolution February 19, 1996

## TOURIST PARK FEES

### Effective 2022 Season

Camping Rate: \$41.00 for pull through sites, \$41.00 for lake sites, \$32.00 for lake tent sites, \$38.00 for second row from lake, \$35.00 highway sites, \$35.00 overflow sites, 50% off above for residents.

Tent Sites: \$30.00/day - overflow sites.

#### Increase on Tourist Park Rates adopted 11-8-2020

Full Hook Ups \$45.00

Dumping Fee: \$8.00 as of November 8, 2021

Shower Fee: \$8.00 as of November 8, 2021

Equipment Fee: \$3.00 surcharge for all camping & tent sites.

Authority: City Commission November 8, 2021

# BAYSHORE PARK PAVILION FEES:

Residents \$100.00 Non-Residents \$150.00

Approved 2-1-2023

# CITY DOCK SEASONAL

Boat Size	Broadside Fee	L-Dock 10% less
20 ft or less	\$840	\$756
21	882	794
22	924	832
23	966	869
24	1008	907
25	1050	945
26	1092	983
27	1134	1020
28	1176	1058
29	1218	1096
30	1260	1134
31	1302	1172
32	1344	1210
33	1386	1247
34	1428	1285
35	1470	1323
36	1512	1361
37	1554	1399
38	1596	1436
39	1638	1474
40	1680	1512
41	1722	1550
42	1764	1588
43	1806	1625
44	1848	1663
45	1890	1701
46	1932	1739
47	1974	1777
48	2016	1814
49	2058	1852
50	2100	1890
51	2142	1928
52	2184	1966
53	2226	2003
54	2268	2041
55	2310	2079
56	2352	2117
57	2394	2155
58	2436	2192
59	2478	2230
60	2520	2268

Finger Slips 30' feet or less \$1260.00 yearly

Fee for boat dockage on North Side of L-Dock \$1.00 per foot minimum of \$100.00

Yearly Seasonal Waitlist Fee = \$25.00

Approved 2-1-2023

# TRANSIENT DOCKAGE FEES

		2024	2024
	Boat Size	Rate/Foot	Fee Per Day
Under	25 feet	FLAT RATE	\$ 44.00
	25 feet	1.75	44.00
	26 feet	1.75	46.00
	27 feet	1.75	47.00
	28 feet	1.75	49.00
	29 feet	1.75	51.00
	30 feet	1.75	53.00
	31 feet	1.75	54.00
	32 feet	1.75	56.00
	33 feet	1.75	58.00
	34 feet	1.75	60.00
	35 feet	1.75	61.00
	36 feet	1.75	63.00
	37 feet	1.75	65.00
	38 feet	1.75	67.00
	39 feet	1.75	68.00
	40 feet	1.75	70.00
	41 feet	1.75	72.00
	42 feet	1.75	74.00
	43 feet	1.75	76.00
	44 feet	1.75	77.00
	45 feet	1.75	79.00
	46 feet	1.75	81.00
	47 feet	1.75	83.00
	48 feet	1.75	84.00
	49 feet	1.75	86.00
	50 feet	1.75	88.00
	51 feet	1.75	89.00
	52 feet	1.75	91.00
	53 feet	1.75	93.00
	54 feet	1.75	95.00
	55 feet	1.75	96.00
	56 feet	1.75	98.00
	57 feet	1.75	100.00
	58 feet	1.75	102.00
	59 feet	1.75	103.00

60 feet & over \$1.75/ft

ALL FEES ROUNDED TO THE NEAREST \$.25

SEWAGE PUMP-OUT FEE: \$10.00 EACH PUMP-OUT

DAYTIME TEMPORARY MOORAGE: \$10.00

COMMERCIAL BOAT SEWAGE PUMP-OUT PER YEAR \$300.00 7-1-11 PER MTG. 6-1-2022

BROADSIDE CHARGE ON BOAT SIZE FOR FEE

## CITY BOAT RAMP

DAILY: \$5.00 5-17-10 SEASON PERMIT: \$40.00 5-17-10 SECOND VEHICLE: \$5.00 5-17-10

### PARKING TICKETS

PARKING VIOLATIONS:

(OVERNIGHT DURING WINTER MONTHS 11-15 - 4-15)

\$50.00 - FIRST OFFENSE IN CALENDAR YEAR \$75.00 - SECOND OFFENSE IN CALENDAR YEAR \$115.00 - THIRD OFFENSE IN CALENDAR YEAR

AUTHORITY: ORDINANCE 2018-05 AS AMENDED

#### WATER DEPARTMENT FEES

### WATER RATES:

July 1, 2022 \$.00801 PER GALLON

July 1, 2023 \$.008402 PER GALLON

July 1, 2024 \$.00883 PER GALLON

## WATER TAPS:

\$30.00 APPLICATION FOR PERMIT

\$500.00 FOR 1" WATER TAP WITH THE CITY DOING THE WORK (6-1-2022)

### WATER REPAIRS:

LABOR AND MATERIALS

#### METERS:

	FIXED	MONTHLY RATES	
	JULY 1, 2022	July 1, 2022	July 1, 2024
BELOW 1"	\$21.33	\$22.38	\$23.52
1" METER	\$59.72	\$62.66	\$65.86
1 ½″ METER	\$102.38	\$107.42	\$112.90
2" METER	\$145.04	\$152.18	\$159.94
3" METER	\$469.26	\$492.36	\$517.44
4" METER	\$1,066.50	\$1,119.00	\$1,176.00
6" METER	\$2,133.00	\$2,238.00	\$2,352.00
8" METER	\$5,759.10	\$6,042.60	\$6,350.40
10" METER	\$5,972.40	\$6,266.40	\$6,585.60

## MISC CHARGES:

## 1. SUMMER WATERING PERMIT:

Revised 5-20-2024: \$40.00 for June, July, August, and September.

### 2. WATER THAWING: June 4, 2003

\$65.00/HOUR DURING WORKING HOURS

\$88.00/HOUR FOR EACH HOUR AFTER WORKING HOURS

\$110.00/HOUR FOR SUNDAY THAWS

## 3. TURN ON & OFF:

REVISED 6-1-2022 EFFECTIVE 7-1-2022 \$50.00 TURN ON AND TURN OFF FEE - AFTER HOUR CHARGE NOT ADDRESSED WOULD REMAIN \$70.00

## 4. PULL & TEST METER:

\$150.00 (Waived if meter is found to be defective).

## 5. FROZEN METER

\$125.00 plus the actual cost of NEW METER 1" OR BELOW see attached quotation for larger sized meters. 6-1-2022

## 6. CUSTOMER REQUESTED HISTORICAL PRINT OUT OF METER ACTIVITY

\$50.00

### 7. Water Sample Processing

\$20 per sample

## METER CHARGE:

TO INSTALL OR REMOVE A METER THERE WILL BE A \$100.00 CHARGE FOR RESIDENTIAL AND A \$175.00 CHARGE FOR COMMERCIAL. 6-1-2022 EFFECT 7-1-2022

#### UTILITY BILLING:

- 1. BUSINESS WITH APARTMENTS: CHARGE PER UNIT.
- 2. BUILDINGS WITH MORE THAN ONE BUSINESS: CHARGE PER UNIT UNLESS THERE IS A COMMON WATER SOURCE.
- 3. APARTMENTS WHERE ALL UNITS ARE NOT FILLED: WILL BE CHARGED FOR ALL UNITS
- 4. SEASONAL CUSTOMERS: WILL BE CHARGED THE FIXED CHARGE
- 5. BILLINGS WILL BE MONTHLY AN ACTUAL READ

## SEWER DEPARTMENT CHARGES - MARCH 1, 2008 MONTHLY BILLS

### SEWER RATES:

July 1, 2022 \$.01664 PER GALLON

July 1, 2023 \$.01746 PER GALLON

July 1, 2024 \$.01835 PER GALLON

## FIXED MONTHLY RATES

METERS:			
	July 1, 2022	July 1, 2023	July 1, 2024
BELOW 1"	\$12.33	\$12.93	\$13.59
1" METER	\$34.52	\$36.20	\$38.05
1 ½″ METER	\$59.18	\$62.06	\$65.23
2" METER	\$83.84	\$87.92	\$92.41
3" METER	\$271.26	\$284.46	\$298.98
4" METER	\$616.50	\$646.50	\$679.50
6" METER	\$1,233.00	\$1,293.00	\$1359.00
8" METER	\$3,329.10	\$3,491.10	\$3669.30
10" METER	\$3,452.40	\$3,620.40	\$3805.20

# DUMPING FEES:

COMMERCIAL SEPTIC RATE: JANUARY  $1^{ST}$ , 2020 = \$.10 PER GALLON

AUTHORITY: RESOLUTION 6-1-2022

## Leachate Treatment cost .04 cents per gallon

#### SEWER TAPS:

\$30.00 APPLICATION FOR PERMIT

\$500.00 OR ACTUAL COST WITH THE CITY DOING THE WORK (6-1-2022)

AUTHORITY: RESOLUTION 6-1-2022

# Effective July 1, 2022

## CEMETERY CHARGES

CEMETERY LOTS (SINGLE GRAVES - 4' X 12') \$500.00

RESOLUTION JUNE 3, 1998

BURIAL PERMIT

REGULAR HOURS \$550.00
SATURDAYS AND AFTER HOURS 250.00 extra
SUNDAYS AND HOLIDAYS 300.00 extra

CHILDREN UNDER 10-YEARS OF AGE: \$400.00

CREMAINS (REGULAR HOURS ONLY) \$250.00

DISINTERMENT & REINTERMENT

DISINTERMENT (REGULAR HOURS) \$600.00 REINTERMENT \$600.00

## VAULT RENTAL:

THERE SHALL BE NO VAULT RENTAL FOR BURIALS WITHIN MAPLE GROVE CEMETERY. VAULT RENTAL FOR BURIALS WITHIN OTHER CEMETERIES SHALL BE \$75.00/MONTH.

### INDIGENT CEMETERY CHARGES:

CEMETERY LOTS \$300.00

REGULAR BURIALS \$325.00

CREMAINS \$175.00

### MISCELLANEOUS CHARGES

## SALE OF MATERIALS:

10% ABOVE OUR COSTS

# XEROXING: - 6-21-2004 (Exempt from FOIA)

\$.25 PER COPY FOR EMPLOYEES - \$.50 PER COPY FOR CUSTOMERS

\$1.00 PER COLOR COPY - ADDED 3-5-08

COPIES FOR ASSESSOR CARDS \$1.00 EACH

## NSF Check Fee

\$25.00 per NSF check

### HEREOS FIELD:

\$10.00/HOUR FOR USE OF LIGHTS STARTING FOR 2010 SEASON \$150.00 PER CO-ED TEAM \$500.00 LITTLE LEAGUE ANNUAL FEE